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Problem: A dense air machine gperates between t'e pressuras of 65 ponnds per souare ineh

and 230 pounds per square inch absolute. The compressor racaives air at a temperature of

100 F., and it is discharged from the water ecooler st 950F, The vslus nf n for the

compression line is 1.3 and for the expansion line, l.4. See fig., 196 !
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¥ind (a) the weight of air per minute pdr ton of refriceration; (b) bet work per minute per !
ton of refrigerations (e) weight of coolirs water per minute per ton of refriceration; (d) ?
horsepowar per ton nf rafrizeration; (o) 4isplseo=eni-eleararess-(£l-displsce=ent-por-minute
por-§en-pe-wra- digplacement per minute per ton of refrigeration for the comrressor, assuming
2 percent clearance; (f) diaplacemsnt rer minute per tonm of refriceration for the eooling coils
or expander, assuming 2 percent clearance; (&) coefficient of performsnce. ;

Assuming the frietion loss to be 15 psareant, and also assume the initial tempersture of the
cooline water to be 65°F, and the final temperature 75°F. |
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